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QUESTION 1

Which of the following is not a state deferral option that is commonly used in support of applying the Service
Statelessness principle? Select the correct answer. 

A. database 

B. utility service 

C. messages 

D. service registry 

Correct Answer: D 

 

QUESTION 2

Which of the following statements does not make sense? Select the correct answer. 

A. By applying the Standardized Service Contract principle, the amount of data model transformation logic required by
my solution has been reduced. 

B. Since the design standards created in support of the Standardized Service Contract principle have been more widely
enforced, I\\'ve noticed the same data models being shared by more services. 

C. It is thanks to the Standardized Service Contract principle that we have been able to better isolate our services so as
to reduce their dependency on shared databases. 

D. All of these statements make sense. 

Correct Answer: C 

 

QUESTION 3

Fill the blank for the following definition of the Service Statelessness design principle: 

"Services minimize resource consumption by __________________ the management of state information 

when necessary." Select the correct answer. 

A. increasing 

B. encapsulating 

C. deferring 

D. assuming 

Correct Answer: C 
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QUESTION 4

The Service Statelessness principle aims to establish a mechanism for the runtime deferral of state data in order to
minimize a __________________ condition when the service is __________________. Select the correct answer. 

A. stateful, passive 

B. stateless, passive 

C. stateful, active 

D. stateless, active 

Correct Answer: C 

 

QUESTION 5

Each time our corporate development team makes a change to the service logic it is required to publish a new version
of the service contract. Our customers are complaining because their service consumer programs become incompatible
with new service contract versions and therefore no longer work. Which of the following service-orientation principles is
most likely to help us solve this on-going problem? Select the correct answer. 

A. Service Reusability 

B. Service Statelessness 

C. Service Loose Coupling 

D. Service Autonomy 

Correct Answer: C 
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